

APPLICATIONS OF MATRIX TRANSFORMATIONS TO ABSOLUTE SUMMABILITY

Mehmet Ali Sarıgöl

© 2020 by University of Niš, Serbia | Creative Commons Licence: CC BY-NC-ND

Abstract. Rhoades and Savaş [6], [11] established necessary conditions for inclusions of the absolute matrix summabilities under additional conditions. In this paper, we determine necessary or sufficient conditions for some classes of infinite matrices, and using this, we get necessary or sufficient conditions for more general absolute summabilities applied to all matrices.

Keywords: matrix summability; infinite matrices; Cesàro matrices; triangular matrix.

1. Introduction

Let X and Y be two sequence spaces of the space ω , the set of all sequences with real or complex terms. Let $A = (a_{nv})$ be an infinite matrix of complex numbers. By $A(x) = (A_n(x))$, we denote the A -transform of the sequence $x = (x_v)$, i.e.,

$$A_n(x) = \sum_{v=0}^{\infty} a_{nv}x_v,$$

provided that the series are convergent for $v, n \geq 0$. If $A(x) \in Y$ for all $x \in X$, then A is called a matrix transformation from X into Y , and denoted by (X, Y) .

In many cases, since an infinite matrix can be considered as a linear operator between two sequence spaces, the theory of matrix transformations in sequence spaces has aroused interest for many years, of which purpose is to provide the necessary and sufficient conditions for a matrix to map a sequence space into another.

X is called a BK -space, if it is a Banach space on which all coordinate functionals defined by $p_n(x) = x_n$ are continuous.

Let Σa_v be a given infinite series with n -th partial sum s_n and let (γ_n) be a sequence of nonnegative numbers. By $(A_n(s))$, we denote the A -transform of the sequence $s = (s_n)$. The series Σx_v is said to be summable $|A, \gamma_n|_k, k \geq 1$, if (see [7])

$$(1.1) \quad \sum_{n=1}^{\infty} \gamma_n^{k-1} |A_n(s) - A_{n-1}(s)|^k < \infty.$$

Note that, for $\gamma_n = n$, $|A, \gamma_n|_k = |A|_k$ [12]. Also, if A is chosen as the matrices of the weighted mean (R, p_n) (*resp.* $\gamma_n = P_n/p_n$) and Cesàro mean (C, α) together with $\gamma_n = n$, then, it reduces to the summabilities $|R, p_n|_k$ [8] (*resp.* $|\bar{N}, p_n|_k$ [1]) and $|C, \alpha|_k$ [2], respectively. By the weighted and Cesàro matrices we mention

$$a_{nv} = \begin{cases} \frac{p_v}{P_n}, & 0 \leq v \leq n \\ 0, & v > n, \end{cases}$$

and

$$a_{nv} = \begin{cases} \frac{A_n^{\alpha-1}}{A_n^\alpha}, & 0 \leq v \leq n \\ 0, & v > n. \end{cases}$$

respectively, where (p_n) is a sequence of positive numbers with $P_n = p_0 + p_1 + \dots + p_n \rightarrow \infty$, and

$$A_n^\alpha = \frac{(\alpha+1)(\alpha+2)\cdots(\alpha+n)}{n!}, n \geq 1, A_0^\alpha = 1$$

$$|A_n^\alpha| \leq A(\alpha)n^\alpha \text{ for all } \alpha$$

$$A_n^\alpha \geq A(\alpha)n^\alpha \text{ and } A_n^\alpha > 0 \text{ for } \alpha > -1.$$

Let $A = (a_{nv})$ be a lower triangular matrix, we derive the matrices $\bar{A} = (\bar{a}_{nv})$ and $\hat{A} = (\hat{a}_{nv})$ from the matrix A as follows:

$$\begin{aligned} \bar{a}_{00} &= \hat{a}_{00} = a_{00} \\ \bar{a}_{nv} &= \sum_{r=v}^n a_{nr}; \quad n, v = 0, 1, \dots \\ \hat{a}_{nv} &= \bar{a}_{nv} - \bar{a}_{n-1, v}, \quad \bar{a}_{n-1, n} = 0. \end{aligned}$$

Then, \hat{A} is a triangular matrix and has unique inverse which is also triangular (see [13]). We will denote its inverse \hat{A}' . Hence, it can be written that

$$A_n(x) = \sum_{v=0}^n a_{nv} s_v = \sum_{r=0}^n \left(\sum_{v=r}^n a_{nv} \right) x_r = \sum_{v=0}^n \bar{a}_{nv} x_v$$

and

$$(1.2) \quad \hat{A}_n(x) = A_n(x) - A_{n-1}(x) = \sum_{v=0}^n (\bar{a}_{nv} - \bar{a}_{n-1, v}) x_v = \sum_{v=0}^n \hat{a}_{nv} x_v.$$

which means that the summability $|A, \gamma_n|_k$ is equivalent to

$$(1.3) \quad \sum_{n=0}^{\infty} \gamma_n^{k-1} |\widehat{A}_n(x)|^k < \infty.$$

By $|\gamma A|_k$, we define the set of all series summable by $|A, \gamma_n|_k$. Then, a series Σx_v is summable $|A, \gamma_n|_k$ iff $x = (x_v) \in |\gamma A|_k$, i.e.,

$$(1.4) \quad |\gamma A|_k = \left\{ x = (x_v) : \widetilde{A}(x) = (\widetilde{A}_n(x)) \in \ell_k \right\}$$

where $\widetilde{A}_n(x) = \gamma_n^{1-1/k} \widehat{A}_n(x)$ for all $n \geq 0$ and ℓ_k is the set of all k -absolutely convergent series.

We note that, since $\widetilde{A} = (\widetilde{a}_{nv})$ is a triangle matrix, it is routine to show that $|\gamma A|_k$ is a BK -space if normed by

$$(1.5) \quad \|x\|_{|\gamma A|_k} = \left\| \widetilde{A}(x) \right\|_{\ell_k}, \quad 1 \leq k < \infty.$$

Dealing with the absolute weighted mean summability of infinite series, Bor and Thorpe [1] established sufficient conditions in order that all $|\overline{N}, p_n|_k$ summable series is also summable $|\overline{N}, q_n|_k$, and conversely. The author [10] showed that Bor and Thorpe's conditions are not only sufficient but also necessary for the conclusion. Also, these results of the author [10] were extended by Rhoades and Savaş [6] using a triangle matrix instead of weighted mean matrix as follows.

Theorem 1.1. Let $1 < k \leq s < \infty$, (p_n) be a sequence satisfying

$$(1.6) \quad \sum_{n=v+1}^{\infty} n^{k-1} \left(\frac{p_n}{P_n P_{n-1}} \right)^k = O \left(\frac{1}{P_n^k} \right).$$

Let B be a lower triangular matrix. Then, necessary conditions for Σx_v summable $|\overline{N}, p_n|_k$ to imply Σx_v is summable $|B|_s$ are

$$\begin{aligned} \frac{P_v |b_{vv}|}{p_v} &= O \left(v^{1/s-1/k} \right), \\ \sum_{n=v+1}^{\infty} n^{s-1} |\Delta_v \widehat{b}_{nv}|^s &= O \left(v^{s-s/k} \frac{p_v}{P_v} \right), \\ \sum_{n=v+1}^{\infty} n^{s-1} |\widehat{b}_{n,v+1}|^s &= O(1). \end{aligned}$$

This result has also been extended by Savaş [11] to the matrix methods as follows

Theorem 1.2. Let $1 < k \leq s < \infty$, A and B be two lower triangular matrices. A satisfying

$$(1.7) \quad \sum_{n=v+1}^{\infty} n^{k-1} |\Delta_v \widehat{a}_{nv}|^k = O(|a_{vv}|^k).$$

Then necessary conditions for Σx_v summable $|A|_k$ to imply Σx_v is summable $|B|_s$ are

$$|b_{vv}| = O(v^{1/s-1/k} |a_{vv}|),$$

$$\sum_{n=v+1}^{\infty} n^{s-1} |\Delta_v \widehat{b}_{nv}|^s = O(v^{s-s/k} |a_{vv}|^s)$$

and

$$\sum_{n=v+1}^{\infty} n^{s-1} |\widehat{b}_{n,v+1}|^s = O\left(\sum_{n=v+1}^{\infty} n^{k-1} |\widehat{a}_{n,v+1}|^k\right)^{s/k}.$$

2. Main results

We note that Theorem 1.1 and Theorem 1.2 give necessary conditions for the triangle matrices under the conditions (1.6) and (1.7). In the present paper, we determine necessary or sufficient conditions for a matrix $T \in (|\gamma A|_k, |\phi B|_s)$, $1 \leq k \leq s < \infty$. Also, in the special case, we get some more general results that do not include the conditions (1.6) and (1.7). More precisely, we give the following theorems.

Theorem 2.1. Let A, B be infinite triangle matrix and T be any infinite matrix of complex numbers. Further, let (γ_n) and (ϕ_n) be two sequences of positive numbers. Then, the necessary conditions for $T \in (|\gamma A|_k, |\phi B|_s)$, $1 < k \leq s < \infty$, are

$$(2.1) \quad \bar{l}_{nr} = \gamma_r^{-1/k^*} \sum_{i=r}^{\infty} t_{ni} \widehat{a}_{ir}' \text{ converges for } n, r \geq 0$$

$$(2.2) \quad \sup_m \sum_{v=0}^m \frac{1}{\gamma_r} \left| \sum_{v=r}^m t_{nv} \widehat{a}_{vr}' \right|^{k^*} < \infty \text{ for } n, r \geq 0$$

$$(2.3) \quad \sum_{n=m}^{\infty} \phi_n^{s-1} \left| \sum_{v=0}^n \sum_{i=m}^{\infty} \widehat{b}_{nv} t_{vi} \widehat{a}_{im}' \right|^s = O(\gamma_m^{s/k^*}),$$

where k^* is the conjugate of k , i.e., $k^* = k/(k-1)$.

Theorem 2.2. Let A, B be infinite triangle matrix and T be any infinite matrix of complex numbers. Further, let (ϕ_n) be a sequences of positive numbers. Then, the necessary and sufficient conditions for $T \in (|A|, |\phi B|_s), 1 = k \leq s < \infty$, are

$$(2.4) \quad \bar{l}_{nr} = \sum_{i=r}^{\infty} t_{ni} \tilde{a}'_{ir} \text{ converges for all } n, r \geq 0$$

$$(2.5) \quad \sup_{m,r} \left| \sum_{v=r}^m t_{nv} \tilde{a}'_{vr} \right| < \infty$$

$$(2.6) \quad \sum_{n=0}^{\infty} \left| \sum_{v=0}^n \tilde{b}_{nv} \bar{l}_{vr} \right|^s = O(1).$$

Note that for $1 < k \leq s < \infty$, the characterization of the class of all matrices (ℓ_k, ℓ_s) are not known. Hence one can not expect to get a set of necessary and sufficient conditions for Theorem 2.1.

We require the following lemmas for the proof of our theorems.

Lemma A. Let X and Y be BK spaces, and A be an infinite matrix of complex numbers. If A is a matrix transformation from X into Y , i.e., $A \in (X, Y)$, then it is a bounded linear operator [13].

Lemma B. Let $1 < k < \infty$ and A be an infinite matrix of complex numbers. Then

a-) $A \in (\ell, c)$ iff

$$i-) \lim_n a_{nv} \text{ exists for all } v \geq 0, \text{ and } ii-) \sup_{n,v} |a_{nv}| < \infty,$$

b-) $A \in (\ell_k, c)$ iff

$$i-) (i) \text{ is satisfied, and } ii-) \sup_n \sum_{v=0}^{\infty} |a_{nv}|^{k^*} < \infty,$$

where c is the set of all convergent sequences, and $1/k + 1/k^* = 1$ [13].

Lemma C. Let $1 \leq s < \infty$ and A be an infinite matrix. Then $A \in (\ell_1, \ell_s)$ iff

$$\sup_v \sum_{n=0}^{\infty} |a_{nv}|^s < \infty$$

where ℓ_s is the set of all s - absolutely convergent sequences [3].

Proof of the Theorem 2.1. Let $1 < k \leq s < \infty$. Suppose, $T \in (|\gamma A|_k, |\phi B|_s)$. Then, $T(x)$ exists and $T(x) \in |\phi B|_s$ for all $x \in |\gamma A|_k$. Now, $x \in |\gamma A|_k$ iff $y = \tilde{A}(x) \in$

ℓ_k , where $y_n = \tilde{A}_n(x) = \gamma_n^{1/k^*} \hat{A}_n(x)$, and $\hat{A}_n(x)$ is defined by (1.2). By the inverse of (1.2), we have

$$x_n = \sum_{r=0}^n \hat{a}'_{nr} \hat{A}_r(x) = \sum_{r=0}^n \hat{a}'_{nr} \gamma_r^{-1/k^*} y_r,$$

and so

$$\begin{aligned} \sum_{v=0}^m t_{nv} x_v &= \sum_{v=0}^m t_{nv} \sum_{r=0}^v \hat{a}'_{vr} \gamma_r^{-1/k^*} y_r \\ &= \sum_{r=0}^m \left(\gamma_r^{-1/k^*} \sum_{v=r}^m t_{nv} \hat{a}'_{vr} \right) y_r = \sum_{r=0}^{\infty} l_{mr}^{(n)} y_r \\ &= L_m^{(n)}(y) \end{aligned}$$

where

$$l_{mr}^{(n)} = \begin{cases} \gamma_r^{-1/k^*} \sum_{v=r}^m t_{nv} \hat{a}'_{vr}, & 0 \leq r \leq m \\ 0, & r > m. \end{cases}$$

This implies that $T(x)$ exists for all $x \in |\gamma A|_k$ iff $L^{(n)}(y)$ exists for $y \in \ell_k$, or equivalently, $L^{(n)} = (l_{mr}^{(n)}) \in (\ell_k, c)$. So, it follows from Lemma *B* that $T(x)$ exists iff (2.1) and (2.2) are satisfied. Further,

$$\begin{aligned} T_n(x) &= \sum_{v=0}^{\infty} t_{nv} x_v = \sum_{r=0}^{\infty} \lim_{m \rightarrow \infty} l_{mr}^{(n)} y_r \\ &= \sum_{r=0}^{\infty} \bar{l}_{nr} y_r = \bar{L}_n(y), \end{aligned}$$

which means $T(x) = \bar{L}(y)$. On the other hand, since $x \in |\phi B|_s$ iff $\tilde{B}_n(x) \in \ell_s$, $T(x) \in |\phi B|_s$ iff $\tilde{B}_n(T(x)) \in \ell_s$, i.e., $C(y) \in \ell_s$, where

$$c_{nr} = \sum_{v=0}^n \tilde{b}_{nv} \bar{l}_{vr} \text{ for } n, r \geq 0,$$

because, for each $n \geq 0$,

$$\begin{aligned} C_n(y) &= \sum_{v=0}^{\infty} c_{nv} y_r = \sum_{r=0}^{\infty} \left(\sum_{v=0}^n \tilde{b}_{nv} \bar{l}_{vr} \right) y_r \\ &= \sum_{v=0}^n \tilde{b}_{nv} \bar{L}_v(y) = \sum_{v=0}^n \tilde{b}_{nv} T_v(x) \\ &= \tilde{B}_n(T(x)). \end{aligned}$$

Also, it can be seen that $C = \tilde{B} \cdot \bar{L}$. So, by combining the above calculations we get $C \in (\ell_k, \ell_s)$. On the other hand, since ℓ_k is *BK* space for $k \geq 1$, then, by

Lemma A, the matrix C defines a bounded linear operator $L_C : \ell_k \rightarrow \ell_s$ such that $L_C(x) = (C_n(x))$ for all $x \in \ell_k$, and so there exists a constant M such that

$$(2.7) \quad \|L_C(x)\|_{\ell_s} \leq M \|x\|_{\ell_k} \quad \text{for all } x \in \ell_k.$$

Now in particular we put $x_m = 1$ and $x_n = 0$ for $n \neq m$. Then, we obtain

$$C_n(x) = \begin{cases} 0, & n < m \\ c_{nm}, & n \geq m \end{cases}$$

and

$$\|L_C(x)\|_{\ell_s} = \left(\sum_{n=m}^{\infty} \left| \phi_n^{1/s^*} \gamma_m^{-1/k^*} \sum_{v=0}^n \sum_{i=m}^{\infty} \hat{b}_{nv} t_{vi} \hat{a}'_{im} \right|^s \right)^{1/s}.$$

So, it follows from (2.7) that (2.3) holds. This completes the proof.

Proof of the Theorem 2.2. Let $1 = k \leq s < \infty$. Then, $T \in (|A|, |\phi B|_s)$ iff $T(x)$ exists and $T(x) \in |\phi B|_s$ for all $x \in |A|$. Now, $x \in |A|$ iff $y \in \ell$, where $y_n = \hat{A}_n(x)$ and $\hat{A}_n(x)$ is defined by (1.2). Then, by the inverse of (1.2), we have

$$x_n = \sum_{r=0}^n \hat{a}'_{nr} \hat{A}_r(x) = \sum_{r=0}^n \hat{a}'_{nr} y_r,$$

and so

$$\begin{aligned} \sum_{v=0}^m t_{nv} x_v &= \sum_{v=0}^m t_{nv} \sum_{r=0}^v \hat{a}'_{vr} \gamma_r^{-1/k^*} y_r \\ &= \sum_{r=0}^m \left(\sum_{v=r}^m t_{nv} \hat{a}'_{vr} \right) y_r = \sum_{r=0}^{\infty} l_{mr}^{(n)} y_r \\ &= L_m^{(n)}(y) \end{aligned}$$

where

$$l_{mr}^{(n)} = \begin{cases} \sum_{v=r}^m t_{nv} \hat{a}'_{vr}, & 0 \leq r \leq m \\ 0, & r > m. \end{cases}$$

This implies that $T(x)$ exists for all $x \in |A|$ iff $L^{(n)}(y) \in (\ell, c)$, or equivalently, by Lemma B, (2.4) and (2.5) are satisfied. Further, we have

$$\begin{aligned} T_n(x) &= \sum_{v=0}^{\infty} t_{nv} x_v = \sum_{r=0}^{\infty} \lim_{m \rightarrow \infty} l_{mr}^{(n)} y_r \\ &= \sum_{r=0}^{\infty} \bar{l}_{nr} y_r = \bar{L}_n(y), \end{aligned}$$

which also means $T(x) = \bar{L}(y)$. On the other hand, since $T(x) = \bar{L}(y)$, then, $T(x) \in |\phi B|_s$ iff $C(y) \in \ell_s$, where

$$c_{nr} = \sum_{v=0}^n \tilde{b}_{nv} \bar{l}_{vr} \quad \text{for } n, r \geq 0,$$

because,

$$\begin{aligned} C_n(y) &= \sum_{r=0}^{\infty} c_{nr} y_r = \sum_{r=0}^{\infty} \left(\sum_{v=0}^n \tilde{b}_{nv} \bar{l}_{vr} \right) y_r \\ &= \sum_{v=0}^n \tilde{b}_{nv} \bar{L}_v(y) = \sum_{v=0}^n \tilde{b}_{nv} T_v(x) \\ &= \tilde{B}_n(T(x)). \end{aligned}$$

Thus it follows from Lemma *C* that

$$\sum_{n=0}^{\infty} \left| \sum_{v=0}^n \tilde{b}_{nv} \bar{l}_{vr} \right|^s = O(1),$$

which completes the proof.

We note that in the special case $T = I$, identity matrix, then $I \in (|\gamma A|_k, |\phi B|_s)$ means that if a series is summable $|A, \gamma_n|_k$, then it is also summable $|B, \phi_n|_s$, and also, conditions (2.1), (2.2) hold and (2.3) reduces to

$$\phi_m^{s-1} \left| \frac{b_{mm}}{a_{mm}} \right|^s + \sum_{n=m+1}^{\infty} \phi_n^{s-1} \left| \sum_{i=m}^n \hat{b}_{ni} \hat{a}'_{im} \right|^s = O(\gamma_m^{s/k^*}).$$

So, as consequences of Theorem 2.1-2.2, we have many results. Now we list some of them.

Corollary 2.3. Let A and B be infinite triangle matrix of complex numbers. Further, let (γ_n) and (ϕ_n) be two sequences of positive numbers.

a-) If $1 < k \leq s < \infty$, then, the necessary conditions in order that a series by summable $|A, \gamma_n|_k$ is also summable $|B, \phi_n|_s$ are

$$(2.8) \quad \phi_m^{1/s^*} \left| \frac{b_{mm}}{a_{mm}} \right| = O(\gamma_m^{1/k^*})$$

$$(2.9) \quad \sum_{n=m+1}^{\infty} \phi_n^{s-1} \left| \sum_{i=m}^n \hat{b}_{ni} \hat{a}'_{im} \right|^s = O(\gamma_m^{s/k^*}).$$

b-) If $1 = k \leq s < \infty$, then, the necessary and sufficient conditions in order that a series by summable $|A|$ is also summable $|B, \phi_n|_s$ are that (2.8) and (2.9) with $k = 1$ are satisfied.

Let us take $\phi_n = \gamma_n = n$ for all n . Since $|A, \gamma_n|_k = |A|_k$ and $|B, \phi_n|_s = |B|_s$, then, Corollary 2.3 reduces to the following result which do not include the additional condition (1.7) of Theorem 1.2.

Corollary 2.4. Let $1 < k \leq s < \infty$, A and B be triangle matrix of complex numbers. Then necessary conditions in order that a series by summable $|A|_k$ is also summable $|B|_s$ are

$$m^{1/k-1/s} \left| \frac{b_{mm}}{a_{mm}} \right| = O(1)$$

and

$$\sum_{n=m+1}^{\infty} n^{s-1} \left| \sum_{i=m}^n \widehat{b}_{ni} \widehat{a}'_{im} \right|^s = O\left(m^{s/k^*}\right).$$

If $1 = k \leq s < \infty$, by Theorem 2.2, these conditions with $k = 1$ are also necessary and sufficient for the conclusion to satisfy.

Also, if we put $A = I$ and $\gamma_v = v$ for all $v \geq 1$, then the summability $|A, \gamma_n|_k$ is equivalent to the condition

$$\sum_{n=1}^{\infty} n^{k-1} |x_n|^k < \infty.$$

Hence the following result is deduced by theorem 2.1, which is due to Sarigöl [9].

Corollary 2.5. Let $1 \leq s < \infty$ and B be triangle matrix of complex numbers. Then, the necessary and sufficient conditions in order that an absolutely convergent series is also summable $|B|_s$ are

$$\sum_{n=v}^{\infty} n^{s-1} \left| \widehat{b}_{nv} \right|^s = O(1).$$

Further, if A and B are the matrix of weighted means (R, p_n) and (R, q_n) then, it is easily seen that $\widehat{a}_{nv} = p_n P_{v-1} / P_n P_{n-1}$, $1 \leq v \leq n$, and zero otherwise, $\widehat{a}'_{vv} = P_v / p_v$, $\widehat{a}'_{v,v-1} = -P_{v-2} / p_{v-1}$ and $\widehat{a}'_{n,v} = 0$ for $n \neq v, v+1$, and also, $\widehat{b}_{nv} = q_n Q_{v-1} / Q_n Q_{n-1}$, $1 \leq v \leq n$, and zero otherwise. So the following result follows immediately from Theorem 2.2, of which sufficiency for the case $\phi_v = \gamma_v = v$ and $k = s$ is due to Orhan and Sarigöl [5].

Corollary 2.6. Let $1 = k \leq s < \infty$ and B be triangle matrix of complex numbers. Then, necessary and sufficient conditions in order that a series by summable $|R, p_n|$ is also summable $|R, q_n|_s$ are

$$v^{1-1/s} \left| \frac{P_v q_v}{p_v Q_v} \right| = O(1)$$

and

$$\left| Q_{v-1} \frac{P_v}{p_v} - Q_v \frac{P_{v-1}}{p_v} \right|^s \sum_{n=v+1}^{\infty} n^{s-1} \left(\frac{q_n}{Q_n Q_{n-1}} \right)^s = O(1).$$

Let A and B be Cesàro matrices (C, α) and (C, β) , respectively. In this case, it is well known that $\widehat{a}_{nv} = vA_{n-v}^{\alpha-1}/nA_n^\alpha$, $\widehat{b}_{nv} = vA_{n-v}^{\beta-1}/nA_n^\beta$, and $\widehat{a}'_{nv} = vA_{n-v}^{-\alpha-1}A_v^\alpha/n$. So, (2.1) is equivalent to

$$v^{\alpha-\beta+1/k-1/s} = O(1),$$

or $\beta \geq \alpha + 1/k - 1/s$. Also, since (see, Lemma 5, Mehdi [4])

$$\sum_{n=v}^{\infty} \frac{1}{n} \left| \frac{A_{n-r}^{\beta-\alpha-1}}{A_n^\beta} \right|^s = \begin{cases} O(v^{-s\beta-1}), & s(\beta - \alpha - 1) < -1 \\ O(v^{-s\beta-1} \log v), & s(\beta - \alpha - 1) = -1 \\ O(v^{-s(\alpha+1)}), & s(\beta - \alpha - 1) > -1 \end{cases}$$

we have

$$\begin{aligned} E_v &= \sum_{n=v}^{\infty} n^{s-1} \left| \sum_{r=v}^n \widehat{b}_{nr} \widehat{a}'_{rv} \right|^s = (vA_v^\alpha)^s \sum_{n=v}^{\infty} n^{s-1} \left| \frac{1}{nA_n^\beta} \sum_{r=v}^n A_{n-r}^{\beta-1} A_{r-v}^{-\alpha-1} \right|^s \\ &= (vA_v^\alpha)^s \sum_{n=v}^{\infty} \frac{1}{n} \left| \frac{A_{n-v}^{\beta-\alpha-1}}{A_n^\beta} \right|^s = O(v^{s-s/k}). \end{aligned}$$

In fact, since $\beta \geq \alpha + 1/k - 1/s$, it is clear that $s(\beta - \alpha - 1) + s + 1 - s/k \geq 0$. So, it is easy to see from Mehdi's lemma that (2.8) is satisfied, because, E_v is equal to $O(1)v^{-s(\beta-\alpha-1)-1-s+s/k}$, $O(1)v^{-s(\beta-\alpha-1)-1-s+s/k} \log v$ and $O(1)v^{-s+s/k}$ for $s(\beta - \alpha - 1) < -1$, $s(\beta - \alpha - 1) = -1$ and $s(\beta - \alpha - 1) > -1$, respectively. So Theorem 2.1 reduces to the following result of which sufficiency was proved by Flett [2].

Corollary 2.7. Let $1 < k \leq s < \infty$, and $\alpha > -1$. Then, necessary conditions in order that a series by summable $|C, \alpha|_k$ is also summable $|C, \beta|_s$ are $\beta \geq \alpha + 1/k - 1/s$.

REFERENCES

1. H. BOR AND B. THORPE: *On some absolute summability methods*. Analysis. **7** (1987), 145-152.
2. T. M. FLETT: *On an extension of absolute summability and some theorems of Littlewood and Paley*. Proc. London Math. Soc. **7** (1957), 113-141.
3. I. J. MADDOX: *Elements of functional analysis*. Cambridge University Press, London, New York, 1970.
4. M. R. MEHDI: *Summability factors for generalized absolute summability I*. Proc. London Math. Soc. **10** (1960), 180-199.
5. C. ORHAN AND M. A. SARIGÖL: *On absolute weighted mean summability*. Rocky Moun. J. Math. **23** (3) (1993), 1091-1097.
6. B. E. RHOADES AND E. SAVAS: *On inclusion relations for absolute summability*. Int. J. Math. Math. Sci. **32** (3) (2002), 129-138.

7. M. A. SARIGÖL: *On local properties of factored Fourier series*. App. Math. Comput. **216** (2010), 3386–3390.
8. M. A. SARIGÖL: *On two absolute Riesz summability factors of infinite series*. Proc. Amer. Math. Soc. **118** (2) (1993), 485–488.
9. M. A. SARIGÖL: *On $|T|_k$ summability and absolute Norlund summability*. Math. Slovaca, **42** (3) (1992), 325–329.
10. M. A. SARIGÖL: *On absolute weighted mean summability methods*. Proc. Amer. Math. Soc. **115**(1) (1992), 157–160
11. E. SAVAS: *Necessary conditions for inclusion relations for absolute summability*. Appl. Math. Comput. **151** (2004), 523–531.
12. N. TANOVIČ-MILLER: *On strong summability*. Glas. Mat. **34** (1979), 87–97.
13. A. WILANSKY: *Summability through Functional Analysis*. North–Holland Mathematical Studies 85, Elsevier Science Publishers, Amsterdam, New York, Oxford, 1984.

Mehmet Ali Sarigöl
Pamukkale University
Department of Mathematics
Denizli, Turkey
msarigol@pau.edu.tr